
Sz(32) (mod 41)

blocks defect matrix

G : 1 1 14× 4
2 0 10251 = χ15, ϕ5

3 0 10252 = χ16, ϕ6

4 0 10253 = χ17, ϕ7

5 0 10254 = χ18, ϕ8

6 0 10255 = χ19, ϕ9

7 0 10256 = χ20, ϕ10

8 0 10257 = χ21, ϕ11

9 0 10258 = χ22, ϕ12

10 0 10259 = χ23, ϕ13

11 0 102510 = χ24, ϕ14

blocks defect matrix

12 0 102511 = χ25, ϕ15

13 0 102512 = χ26, ϕ16

14 0 102513 = χ27, ϕ17

15 0 102514 = χ28, ϕ18

16 0 102515 = χ29, ϕ19

17 0 12711 = χ30, ϕ20

18 0 12712 = χ31, ϕ21

19 0 12713 = χ32, ϕ22

20 0 12714 = χ33, ϕ23

21 0 12715 = χ34, ϕ24

22 0 12716 = χ35, ϕ25

Block 1: ϕ1 ϕ2 ϕ3 ϕ4

11 = χ1 1 . . .
1241 = χ2 . 1 . .
1242 = χ3 . . 1 .
7751 = χ4 . . . 1
7752 = χ5 . . . 1
7753 = χ6 . . . 1
7754 = χ7 . . . 1
7755 = χ8 . . . 1
7756 = χ9 . . . 1
7757 = χ10 . . . 1
7758 = χ11 . . . 1
7759 = χ12 . . . 1
77510 = χ13 . . . 1
10241 = χ14 1 1 1 1

ϕ1 = 11
ϕ2 = 1241
ϕ3 = 1242
ϕ4 = 7751


